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MiP-PSCT Training Solution Sheet 
 

 

Date of Assignment: 16/08/2017  

 

1. Problem definition: 
 

An industrial system is shown below 

 
A. Find the critical clearing time of the generator for a LLLG fault at 33 kV Bus. 

 

B. Trip the 60 MW load & grid, then observe the system behavior. 

 

Answer: A. 0.34 seconds. 

B. When we disconnect 60 MW load and the grid, the system becomes unstable. 
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Libraries 

 

GRID 220 kV: 

 

 
 

GEN 11 kV: 

 

 



  MiP-PSCT
TM

    

Power Research & Development Consultants Pvt. Ltd.   Page 3 
 

Case A: 

Stable Condition: 
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Unstable Condition: 

 

 
 

 

 
 

 

Critical Clearing time of the generator: 0.84-0.5=0.34 sec 
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Case B: Making Grid 220 kV and 60 MW load off. 
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After making the 60 MW load & grid off, the generator become unstable. 


